

CONGRUENCES FOR k DOTS BRACELET PARTITION FUNCTIONS

SU-PING CUI AND NANCY SHAN-SHAN GU

ABSTRACT. Andrews and Paule introduced broken k -diamond partitions by using MacMahon's partition analysis. Recently, Fu found a generalization which he called k dots bracelet partitions and investigated some congruences for this kind of partitions. In this paper, by finding congruence relations between the generating function for 5 dots bracelet partitions and that for 5-regular partitions, we get some new congruences modulo 2 for the 5 dots bracelet partition function. Moreover, for a given prime p , we study arithmetic properties modulo p of k dots bracelet partitions.

1. INTRODUCTION

Andrews and Paule [1] studied broken k -diamond partitions by using MacMahon's partition analysis, and gave the generating function for $\Delta_k(n)$ which denotes the number of broken k -diamond partitions of n :

$$\sum_{n=0}^{\infty} \Delta_k(n) q^n = \frac{(-q; q)_{\infty}}{(q; q)_{\infty}^2 (-q^{2k+1}; q^{2k+1})_{\infty}}.$$

They [1] proved the following arithmetic theorem for $\Delta_1(n)$.

Theorem 1.1. [1, Theorem 5] For $n \geq 0$,

$$\Delta_1(2n + 1) \equiv 0 \pmod{3}.$$

Meanwhile, they posed some conjectures related to $\Delta_2(n)$. Arithmetic properties of broken k -diamond partitions have been the subject of many studies, see, for example [3, 7, 9–12, 14, 17]. Recently, Fu [4] found a combinatorial proof of Theorem 1.1 and introduced a generalization of broken k -diamond partitions which he called k dots bracelet partitions. The generating function for the number of this kind of partitions of n , denoted by $\mathfrak{B}_k(n)$, is given by

$$\sum_{n=0}^{\infty} \mathfrak{B}_k(n) q^n = \frac{(-q; q)_{\infty}}{(q; q)_{\infty}^{k-1} (-q^k; q^k)_{\infty}}, \quad k \geq 3.$$

Fu [4] proved the following congruences for $\mathfrak{B}_k(n)$.

1991 *Mathematics Subject Classification.* 11P83, 05A17.

Key words and phrases. Partition; broken k -diamond partition; k dots bracelet partition; congruence.

Theorem 1.2. [4, Theorem 3.3] For $n > 0$, $k \geq 3$, if $k = p^r$ is a prime power, we have

$$\mathfrak{B}_k(2n + 1) \equiv 0 \pmod{p}.$$

Theorem 1.3. [4, Theorem 3.5] For any $k \geq 3$, s an integer between 1 and $p - 1$ such that $12s + 1$ is a quadratic nonresidue modulo p , and any $n \geq 0$, if $p \mid k$ for some prime $p \geq 5$ say $k = pm$, then we have

$$\mathfrak{B}_k(pn + s) \equiv 0 \pmod{p}.$$

Theorem 1.4. [4, Theorem 3.6] For $n \geq 0$, $k \geq 3$ even, say $k = 2^m l$, where l is odd, we have

$$\mathfrak{B}_k(2n + 1) \equiv 0 \pmod{2^m}.$$

Later, Radu and Sellers [13] found some new congruences for $\mathfrak{B}_k(n)$.

Theorem 1.5. [13, Theorem 1.4] For all $n \geq 0$,

$$\begin{aligned} \mathfrak{B}_5(10n + 7) &\equiv 0 \pmod{5^2}, \\ \mathfrak{B}_7(14n + 11) &\equiv 0 \pmod{7^2}, \text{ and} \\ \mathfrak{B}_{11}(22n + 21) &\equiv 0 \pmod{11^2}. \end{aligned}$$

In this paper, we continue to study arithmetic properties of k dots bracelet partitions. First, we recall two kinds of partitions which are used in this paper.

A partition of a positive integer n is a nonincreasing sequence of positive integers whose sum is n . Let $p(n)$ denote the number of partitions of n . We have

$$\sum_{n=0}^{\infty} p(n)q^n = \frac{1}{(q; q)_{\infty}}.$$

If ℓ is a positive integer, then a partition is called an ℓ -regular partition if there is no part divisible by ℓ . Let $b_{\ell}(n)$ denote the number of ℓ -regular partitions of n . The generating function for $b_{\ell}(n)$ is given by

$$\sum_{n=0}^{\infty} b_{\ell}(n)q^n = \frac{(q^{\ell}; q^{\ell})_{\infty}}{(q; q)_{\infty}}.$$

In section 2, in view of an identity given by Ramanujan [16] and a congruence given by Hirschhorn and Sellers [8], we obtain two congruences modulo 2 for $\mathfrak{B}_5(n)$. Meanwhile, by finding a congruence relation between $\mathfrak{B}_5(n)$ and $b_5(n)$, we derive many infinite families of congruences modulo 2 for $\mathfrak{B}_5(n)$. In section 3, for a given prime p , by means of the p -dissection identity for $f(-q)$ given by the authors [6] and three classical congruences for $p(n)$ given by Ramanujan [15, 16], we deduce more congruences modulo p for $\mathfrak{B}_k(n)$.

As usual, we follow the standard q -series notation [5]

$$(a; q)_{\infty} = \prod_{k=0}^{\infty} (1 - aq^k) \quad \text{and} \quad (a_1, a_2, \dots, a_m; q)_{\infty} = \prod_{j=1}^m (a_j; q)_{\infty}, \quad |q| < 1.$$

The Legendre symbol is defined as

$$\left(\frac{a}{p}\right) := \begin{cases} 1, & \text{if } a \text{ is a quadratic residue modulo } p \text{ and } a \not\equiv 0 \pmod{p}, \\ -1, & \text{if } a \text{ is a quadratic non-residue modulo } p, \\ 0, & \text{if } a \equiv 0 \pmod{p}. \end{cases}$$

Let $f(a, b)$ be Ramanujan's general theta function given by

$$f(a, b) = \sum_{n=-\infty}^{\infty} a^{\frac{n(n+1)}{2}} b^{\frac{n(n-1)}{2}}, \quad |ab| < 1.$$

In light of Jacobi's triple product identity [2, Theorem 1.3.3]

$$\sum_{n=-\infty}^{\infty} z^n q^{n^2} = (-zq, -q/z, q^2; q^2)_{\infty}, \quad |q| < 1,$$

a special case of $f(a, b)$ is stated as follows:

$$f(-q) := f(-q, -q^2) = \sum_{n=-\infty}^{\infty} (-1)^n q^{\frac{n(3n-1)}{2}} = (q; q)_{\infty}.$$

2. CONGRUENCES MODULO 2 FOR $\mathfrak{B}_5(n)$

We recall Ramanujan's identity [16, p. 212]

$$(q; q)_{\infty} = \frac{(q^{10}, q^{15}, q^{25}; q^{25})_{\infty}}{(q^5, q^{20}; q^{25})_{\infty}} - q(q^{25}; q^{25})_{\infty} - q^2 \frac{(q^5, q^{20}, q^{25}; q^{25})_{\infty}}{(q^{10}, q^{15}; q^{25})_{\infty}}. \quad (2.1)$$

For convenience, set

$$a(q) = \frac{(q^{10}, q^{15}; q^{25})_{\infty}}{(q^5, q^{20}; q^{25})_{\infty}} \quad \text{and} \quad b(q) = \frac{(q^5, q^{20}; q^{25})_{\infty}}{(q^{10}, q^{15}; q^{25})_{\infty}} = \frac{1}{a(q)}.$$

Then we rewrite (2.1) as

$$(q; q)_{\infty} = (q^{25}; q^{25})_{\infty} (a(q) - q - q^2 b(q)). \quad (2.2)$$

In addition, Hirschhorn and Sellers [8] showed that

$$\sum_{n=0}^{\infty} b_5(2n)q^n \equiv (q^2; q^2)_{\infty} \pmod{2}. \quad (2.3)$$

By means of (2.2) and (2.3), we derive the following results.

Theorem 2.1. *For $n \geq 0$, we have*

$$\mathfrak{B}_5(10n + 6) \equiv 0 \pmod{2},$$

$$\mathfrak{B}_5(10n + 8) \equiv 0 \pmod{2}.$$

Proof. We show that

$$\sum_{n=0}^{\infty} \mathfrak{B}_5(n)q^n = \frac{(-q; q)_{\infty}}{(q; q)_{\infty}^4 (-q^5; q^5)_{\infty}}$$

$$\begin{aligned}
& \text{S.-P. CUI AND N. S. S. GU} \\
&= \frac{(q^2; q^2)_\infty (q^5; q^5)_\infty}{(q; q)_\infty^5 (q^{10}; q^{10})_\infty} \\
&\equiv \frac{(q^2; q^2)_\infty (q^5; q^5)_\infty}{(q^4; q^4)_\infty (q^{10}; q^{10})_\infty (q; q)_\infty} \pmod{2} \\
&\equiv \frac{1}{(q^2; q^2)_\infty (q^{10}; q^{10})_\infty} \frac{(q^5; q^5)_\infty}{(q; q)_\infty} \pmod{2} \\
&= \frac{1}{(q^2; q^2)_\infty (q^{10}; q^{10})_\infty} \cdot \sum_{n=0}^{\infty} b_5(n) q^n.
\end{aligned}$$

Then

$$\begin{aligned}
\sum_{n=0}^{\infty} \mathfrak{B}_5(2n) q^n &\equiv \frac{1}{(q; q)_\infty (q^5; q^5)_\infty} \cdot \sum_{n=0}^{\infty} b_5(2n) q^n \pmod{2} \\
&\equiv \frac{(q^2; q^2)_\infty}{(q; q)_\infty (q^5; q^5)_\infty} \pmod{2} \quad \text{by (2.3)} \\
&\equiv \frac{(q; q)_\infty}{(q^5; q^5)_\infty} \pmod{2}.
\end{aligned}$$

According to (2.2), it follows that

$$\sum_{n=0}^{\infty} \mathfrak{B}_5(2n) q^n \equiv \frac{(q^{25}; q^{25})_\infty}{(q^5; q^5)_\infty} (a(q) - q - q^2 b(q)) \pmod{2}. \quad (2.4)$$

Therefore, we get

$$\begin{aligned}
\mathfrak{B}_5(2(5n+3)) &= \mathfrak{B}_5(10n+6) \equiv 0 \pmod{2}, \\
\mathfrak{B}_5(2(5n+4)) &= \mathfrak{B}_5(10n+8) \equiv 0 \pmod{2}.
\end{aligned}$$

□

Lemma 2.2. For $n \geq 0$, we have

$$\sum_{n=0}^{\infty} \mathfrak{B}_5(10n+2) q^n \equiv \sum_{n=0}^{\infty} b_5(n) q^n \pmod{2}.$$

Proof. Applying (2.4) yields that

$$\sum_{n=0}^{\infty} \mathfrak{B}_5(2(5n+1)) q^n = \sum_{n=0}^{\infty} \mathfrak{B}_5(10n+2) q^n \equiv \frac{(q^5; q^5)_\infty}{(q; q)_\infty} = \sum_{n=0}^{\infty} b_5(n) q^n \pmod{2}.$$

□

The authors [6] found that for any prime $p \geq 5$, $\left(\frac{-10}{p}\right) = -1$, $\alpha \geq 1$, and $n \geq 0$,

$$b_5 \left(4 \cdot p^{2\alpha} n + \frac{(24i+7p)p^{2\alpha-1} - 1}{6} \right) \equiv 0 \pmod{2}, \quad i = 1, 2, \dots, p-1. \quad (2.5)$$

Meanwhile, for $\alpha \geq 0$ and $n \geq 0$, there exist

$$b_5 \left(4 \cdot 5^{2\alpha+1} n + \frac{31 \cdot 5^{2\alpha} - 1}{6} \right) \equiv 0 \pmod{2}, \quad (2.6)$$

$$b_5 \left(4 \cdot 5^{2\alpha+1}n + \frac{79 \cdot 5^{2\alpha} - 1}{6} \right) \equiv 0 \pmod{2}, \quad (2.7)$$

$$b_5 \left(4 \cdot 5^{2\alpha+2}n + \frac{83 \cdot 5^{2\alpha+1} - 1}{6} \right) \equiv 0 \pmod{2}, \quad (2.8)$$

$$b_5 \left(4 \cdot 5^{2\alpha+2}n + \frac{107 \cdot 5^{2\alpha+1} - 1}{6} \right) \equiv 0 \pmod{2}. \quad (2.9)$$

Therefore, The combination of Lemma 2.2 and (2.5)-(2.9) gives more congruences for $\mathfrak{B}_5(n)$.

Theorem 2.3. For any prime $p \geq 5$, $\left(\frac{-10}{p}\right) = -1$, $\alpha \geq 1$, and $n \geq 0$, we have

$$\mathfrak{B}_5 \left(40 \cdot p^{2\alpha}n + \frac{5 \cdot (24i + 7p)p^{2\alpha-1} + 1}{3} \right) \equiv 0 \pmod{2},$$

where $i = 1, 2, \dots, p-1$.

For example, setting $p = 17$, $i = 6$, and $\alpha = 1$ in Theorem 2.3, we deduce that

$$\mathfrak{B}_5(11560n + 7452) \equiv 0 \pmod{2}.$$

Theorem 2.4. For $\alpha \geq 1$ and $n \geq 0$, we have

$$\mathfrak{B}_5 \left(8 \cdot 5^{2\alpha}n + \frac{31 \cdot 5^{2\alpha-1} + 1}{3} \right) \equiv 0 \pmod{2},$$

$$\mathfrak{B}_5 \left(8 \cdot 5^{2\alpha}n + \frac{79 \cdot 5^{2\alpha-1} + 1}{3} \right) \equiv 0 \pmod{2},$$

$$\mathfrak{B}_5 \left(8 \cdot 5^{2\alpha+1}n + \frac{83 \cdot 5^{2\alpha} + 1}{3} \right) \equiv 0 \pmod{2},$$

$$\mathfrak{B}_5 \left(8 \cdot 5^{2\alpha+1}n + \frac{107 \cdot 5^{2\alpha} + 1}{3} \right) \equiv 0 \pmod{2}.$$

3. CONGRUENCES MODULO p FOR $\mathfrak{B}_k(n)$

The authors [6] derived that for a given prime $p \geq 5$,

$$f(-q) = \sum_{\substack{k = -\frac{p-1}{2} \\ k \neq \frac{\pm p-1}{6}}}^{\frac{p-1}{2}} (-1)^k q^{\frac{3k^2+k}{2}} f \left(-q^{\frac{3p^2+(6k+1)p}{2}}, -q^{\frac{3p^2-(6k+1)p}{2}} \right) + (-1)^{\frac{\pm p-1}{6}} q^{\frac{p^2-1}{24}} f(-q^{p^2}), \quad (3.1)$$

where

$$\frac{\pm p-1}{6} := \begin{cases} \frac{p-1}{6}, & p \equiv 1 \pmod{6}, \\ \frac{-p-1}{6}, & p \equiv -1 \pmod{6}. \end{cases}$$

Furthermore, for $-(p-1)/2 \leq k \leq (p-1)/2$ and $k \neq (\pm p-1)/6$,

$$\frac{3k^2+k}{2} \not\equiv \frac{p^2-1}{24} \pmod{p}.$$

With the aid of the above result, we obtain the following lemma.

Lemma 3.1. *For any prime $p \geq 5$, $n \geq 0$, and $r \geq 1$, if $k = p^r$ is a prime power, then we have for $1 \leq \alpha \leq (r+1)/2$,*

$$\sum_{n=0}^{\infty} \mathfrak{B}_k \left(p^{2\alpha-1}n + \frac{p^{2\alpha}-1}{12} \right) q^n \equiv \left((-1)^{\frac{\pm p-1}{6}} \right)^\alpha \frac{(q^{2p}; q^{2p})_\infty}{(q^{2p^{r-(2\alpha-1)}}; q^{2p^{r-(2\alpha-1)}})_\infty} \pmod{p}.$$

Proof. We prove the lemma by induction on α . For $k = p^r$, Fu [4] showed that

$$\sum_{n=0}^{\infty} \mathfrak{B}_k(n) q^n \equiv \frac{(q^2; q^2)_\infty}{(q^{2k}; q^{2k})_\infty} \pmod{p}.$$

In light of (3.1), it can be seen that

$$\sum_{n=0}^{\infty} \mathfrak{B}_k \left(pn + \frac{p^2-1}{12} \right) q^n \equiv (-1)^{\frac{\pm p-1}{6}} \frac{(q^{2p}; q^{2p})_\infty}{(q^{2p^{r-1}}; q^{2p^{r-1}})_\infty} \pmod{p},$$

which is the case when $\alpha = 1$. Suppose that the lemma holds for α . We prove the case for $\alpha + 1$. Since

$$\sum_{n=0}^{\infty} \mathfrak{B}_k \left(p^{2\alpha-1}n + \frac{p^{2\alpha}-1}{12} \right) q^n \equiv \left((-1)^{\frac{\pm p-1}{6}} \right)^\alpha \frac{(q^{2p}; q^{2p})_\infty}{(q^{2p^{r-(2\alpha-1)}}; q^{2p^{r-(2\alpha-1)}})_\infty} \pmod{p},$$

it can be shown that

$$\begin{aligned} \sum_{n=0}^{\infty} \mathfrak{B}_k \left(p^{2\alpha-1}(pn) + \frac{p^{2\alpha}-1}{12} \right) q^n &= \sum_{n=0}^{\infty} \mathfrak{B}_k \left(p^{2\alpha}n + \frac{p^{2\alpha}-1}{12} \right) q^n \\ &\equiv \left((-1)^{\frac{\pm p-1}{6}} \right)^\alpha \frac{(q^2; q^2)_\infty}{(q^{2p^{r-2\alpha}}; q^{2p^{r-2\alpha}})_\infty} \pmod{p}. \end{aligned} \quad (3.2)$$

Using (3.1) again, we get

$$\begin{aligned} &\sum_{n=0}^{\infty} \mathfrak{B}_k \left(p^{2\alpha} \left(pn + \frac{p^2-1}{12} \right) + \frac{p^{2\alpha}-1}{12} \right) q^n \\ &= \sum_{n=0}^{\infty} \mathfrak{B}_k \left(p^{2\alpha+1}n + \frac{p^{2\alpha+2}-1}{12} \right) q^n \\ &\equiv \left((-1)^{\frac{\pm p-1}{6}} \right)^{\alpha+1} \frac{(q^{2p}; q^{2p})_\infty}{(q^{2p^{r-(2\alpha+1)}}; q^{2p^{r-(2\alpha+1)}})_\infty} \pmod{p}. \end{aligned}$$

Therefore, the lemma holds for $\alpha + 1$. \square

Theorem 3.2. *For any prime $p \geq 5$, $n \geq 0$, and $r \geq 1$, if $k = p^r$ is a prime power, then we have*

$$\mathfrak{B}_k \left(p^{2\alpha}n + \frac{(12i+p)p^{2\alpha-1}-1}{12} \right) \equiv 0 \pmod{p}, \quad (3.3)$$

where $i = 1, 2, \dots, p-1$ and $1 \leq \alpha \leq r/2$. We also have

$$\mathfrak{B}_k \left(p^{2\alpha+1}n + \frac{(12j+1)p^{2\alpha}-1}{12} \right) \equiv 0 \pmod{p},$$

where $1 \leq j \leq p-1$ is an integer such that $\left(\frac{12j+1}{p} \right) = -1$ and $1 \leq \alpha \leq (r-1)/2$.

Proof. When $1 \leq \alpha \leq r/2$, from Lemma 3.1, it follows that for $i = 1, 2, \dots, p-1$,

$$\mathfrak{B}_k \left(p^{2\alpha-1}(pn+i) + \frac{p^{2\alpha}-1}{12} \right) \equiv 0 \pmod{p},$$

which implies (3.3). Applying (3.1) to (3.2), we consider

$$j \equiv 2 \cdot \frac{3k^2+k}{2} \pmod{p},$$

namely,

$$12j+1 \equiv (6k+1)^2 \pmod{p}.$$

Since $12j+1$ is a quadratic nonresidue modulo p , we conclude that

$$\mathfrak{B}_k \left(p^{2\alpha}(pn+j) + \frac{p^{2\alpha}-1}{12} \right) \equiv 0 \pmod{p}.$$

□

Based on Lemma 3.1 and generating functions for $p(n)$ and $b_\ell(n)$, we get the following congruence relations.

Theorem 3.3. *For any prime $p \geq 5$, $\alpha \geq 1$, and $n \geq 0$, if $k = p^{2\alpha-1}$ is a prime power, then we have*

$$\begin{aligned} \sum_{n=0}^{\infty} \mathfrak{B}_k \left(2p^{2\alpha-1}n + \frac{p^{2\alpha}-1}{12} \right) q^n &\equiv \left((-1)^{\frac{\pm p-1}{6}} \right)^\alpha \sum_{n=0}^{\infty} b_p(n) q^n \pmod{p}, \\ \sum_{n=0}^{\infty} \mathfrak{B}_k \left(2p^{2\alpha-1}n + \frac{p^{2\alpha}-1}{12} \right) q^n &\equiv \left((-1)^{\frac{\pm p-1}{6}} \right)^\alpha (q^p; q^p)_\infty \sum_{n=0}^{\infty} p(n) q^n \pmod{p}. \end{aligned} \quad (3.4)$$

Proof. Set $r = 2\alpha - 1$ in Lemma 3.1. Then $k = p^{2\alpha-1}$. So we derive that

$$\sum_{n=0}^{\infty} \mathfrak{B}_k \left(p^{2\alpha-1}n + \frac{p^{2\alpha}-1}{12} \right) q^n \equiv \left((-1)^{\frac{\pm p-1}{6}} \right)^\alpha \frac{(q^{2p}; q^{2p})_\infty}{(q^2; q^2)_\infty} \pmod{p}.$$

Therefore,

$$\begin{aligned} \sum_{n=0}^{\infty} \mathfrak{B}_k \left(p^{2\alpha-1}(2n) + \frac{p^{2\alpha}-1}{12} \right) q^n &= \sum_{n=0}^{\infty} \mathfrak{B}_k \left(2p^{2\alpha-1}n + \frac{p^{2\alpha}-1}{12} \right) q^n \\ &\equiv \left((-1)^{\frac{\pm p-1}{6}} \right)^\alpha \frac{(q^p; q^p)_\infty}{(q; q)_\infty} \pmod{p}. \end{aligned}$$

□

Combining (3.4) with three famous congruences for $p(n)$ given by Ramanujan [15, 16]

$$p(5n+4) \equiv 0 \pmod{5}, \quad (3.5)$$

$$p(7n+5) \equiv 0 \pmod{7}, \quad (3.6)$$

$$p(11n+6) \equiv 0 \pmod{11}, \quad (3.7)$$

we obtain the following results.

Corollary 3.4. For $\alpha \geq 1$ and $n \geq 0$, we have

$$\begin{aligned}\mathfrak{B}_{5^{2\alpha-1}} \left(2 \cdot 5^{2\alpha} n + \frac{101 \cdot 5^{2\alpha-1} - 1}{12} \right) &\equiv 0 \pmod{5}, \\ \mathfrak{B}_{7^{2\alpha-1}} \left(2 \cdot 7^{2\alpha} n + \frac{127 \cdot 7^{2\alpha-1} - 1}{12} \right) &\equiv 0 \pmod{7}, \\ \mathfrak{B}_{11^{2\alpha-1}} \left(2 \cdot 11^{2\alpha} n + \frac{155 \cdot 11^{2\alpha-1} - 1}{12} \right) &\equiv 0 \pmod{11}.\end{aligned}$$

Proof. With the aid of (3.4), we arrive at

$$\begin{aligned}\sum_{n=0}^{\infty} \mathfrak{B}_{5^{2\alpha-1}} \left(2 \cdot 5^{2\alpha-1} n + \frac{5^{2\alpha} - 1}{12} \right) q^n &\equiv (-1)^\alpha (q^5; q^5)_\infty \sum_{n=0}^{\infty} p(n) q^n \pmod{5}, \\ \sum_{n=0}^{\infty} \mathfrak{B}_{7^{2\alpha-1}} \left(2 \cdot 7^{2\alpha-1} n + \frac{7^{2\alpha} - 1}{12} \right) q^n &\equiv (-1)^\alpha (q^7; q^7)_\infty \sum_{n=0}^{\infty} p(n) q^n \pmod{7}, \\ \sum_{n=0}^{\infty} \mathfrak{B}_{11^{2\alpha-1}} \left(2 \cdot 11^{2\alpha-1} n + \frac{11^{2\alpha} - 1}{12} \right) q^n &\equiv (q^{11}; q^{11})_\infty \sum_{n=0}^{\infty} p(n) q^n \pmod{11}.\end{aligned}$$

Applying (3.5), (3.6), and (3.7) yields

$$\begin{aligned}\mathfrak{B}_{5^{2\alpha-1}} \left(2 \cdot 5^{2\alpha-1} (5n+4) + \frac{5^{2\alpha} - 1}{12} \right) &\equiv 0 \pmod{5}, \\ \mathfrak{B}_{7^{2\alpha-1}} \left(2 \cdot 7^{2\alpha-1} (7n+5) + \frac{7^{2\alpha} - 1}{12} \right) &\equiv 0 \pmod{7}, \\ \mathfrak{B}_{11^{2\alpha-1}} \left(2 \cdot 11^{2\alpha-1} (11n+6) + \frac{11^{2\alpha} - 1}{12} \right) &\equiv 0 \pmod{11}.\end{aligned}$$

□

Another congruence modulo p for $\mathfrak{B}_k(n)$ can be directly obtained from Lemma 3.1.

Theorem 3.5. For any prime $p \geq 5$, $\alpha \geq 1$, and $n \geq 1$, if $k = p^{2\alpha}$ is a prime power, then we have

$$\mathfrak{B}_k \left(p^{2\alpha-1} n + \frac{p^{2\alpha} - 1}{12} \right) \equiv 0 \pmod{p}.$$

Proof. Set $r = 2\alpha$ in Lemma 3.1. Then we have $k = p^{2\alpha}$. Therefore,

$$\sum_{n=0}^{\infty} \mathfrak{B}_k \left(p^{2\alpha-1} n + \frac{p^{2\alpha} - 1}{12} \right) q^n \equiv \left((-1)^{\frac{\pm p-1}{6}} \right)^\alpha \pmod{p}.$$

□

Acknowledgements: This work was supported by the National Natural Science Foundation of China and the PCSIRT Project of the Ministry of Education.

REFERENCES

- [1] G. E. Andrews and P. Paule, MacMahon's partition analysis XI: broken diamonds and modular forms, *Acta Arith.* **126**(3) (2007) 281–294.
- [2] B. C. Berndt, *Number Theory in the Spirit of Ramanujan* (American Mathematical Society/Providence, 2004).
- [3] S. H. Chan, Some congruences for Andrews-Paule's broken 2-diamond partitions, *Discrete Math.* **308**(23) (2008) 5735–5741.
- [4] S. Fu, Combinatorial proof of one congruence for the broken 1-diamond partition and a generalization, *Int. J. Number Theory* **7**(1) (2011) 133–144.
- [5] G. Gasper and M. Rahman, *Basic Hypergeometric Series, Second Ed.* (Cambridge University Press/Cambridge, 2004).
- [6] S. P. Cui and N. S. S. Gu, Arithmetic properties of ℓ -regular partitions, arXiv:1302.3693 [math.CO].
- [7] M. D. Hirschhorn and J. A. Sellers, On recent congruence results of Andrews and Paule for broken k -diamonds, *Bull. Austral. Math. Soc.* **75**(1) (2007) 121–126.
- [8] M. D. Hirschhorn and J. A. Sellers, Elementary proofs of parity results for 5-regular partitions, *Bull. Austral. Math. Soc.* **81**(1) (2010) 58–63.
- [9] M. Jameson, Congruences for broken k -diamond partitions, *Ann. Comb.*, to appear.
- [10] E. Mortenson, On the broken 1-diamond partition, *Int. J. Number Theory* **4**(2) (2008) 199–218.
- [11] P. Paule and S. Radu, Infinite families of strange partition congruences for broken 2-diamonds, *Ramanujan J.* **23** (2010) 409–416.
- [12] S. Radu and J. A. Sellers, Parity results for broken k -diamond partitions and $(2k+1)$ -cores, *Acta Arith.* **146**(1) (2011) 43–52.
- [13] S. Radu and J. A. Sellers, Congruences modulo squares of primes for Fu's k dots bracelet partitions, *Int. J. Number Theory* **9** (2013) 939–943.
- [14] S. Radu and J. A. Sellers, Infinite many congruences for broken 2-diamond partitions modulo 3, *J. Comb. Number Theory*, to appear.
- [15] S. Ramanujan, Some properties of $p(n)$, the number of partitions of n , *Proc. Cambridge Philos. Soc.* **19** (1919) 207–210.
- [16] S. Ramanujan, *Collected Papers* (Cambridge University Press/Cambridge, 1927; reprinted by Chelsea/New York, 1962; reprinted by the American Mathematical Society/Providence, RI, 2000).
- [17] X. Xiong, Two congruences involving Andrews-Paule's broken 3-diamond partitions and 5-diamond partitions, *Proc. Japan Acad. Ser. A Math. Sci.* **87**(5) (2011) 65–68.

(S.-P. Cui) CENTER FOR COMBINATORICS, LPMC-TJKLC,, NANKAI UNIVERSITY, TIANJIN 300071, P. R. CHINA

E-mail address: jiayoucui@163.com

(N. S. S. Gu) CENTER FOR COMBINATORICS, LPMC-TJKLC, NANKAI UNIVERSITY, TIANJIN 300071, P. R. CHINA

E-mail address: gu@nankai.edu.cn